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QP Code : 16018

(2% Hours) [ Total Marks : 75
N.B.: (1) All questions are compulsory. : fb.?
(2) Figures to the right indicate full marks. o}
(3) Draw neat diagrams, ‘;:\2\
S
: (&
1. Explain any two :—- : 1 iﬁb’{(’
' (a) Derive IS curve. : e

(b) Relative Efficiency of Fiscal Policy and the slope of LM curve. %@Q’

(c) Long-Run Phillips curve. O
O
O
2. Discuss any two :— ; éf\j 15
) (a) Comparative Cost Theory of International Trade. \23"
(b) Policy of Protection. Q~
(c) Effects of Tariffs, - Q\L—?‘
Q

3. Describe any two :— 6363 15

(@) Meinods to correct disequilibrivm in the Ralance of Payments.
(b) Efficiency. of Fiscal Policy under FI@%G Exchange Rate and
Perfect Capital Mobility. RN
(c) Purchasing Power Parity 'I’hcory.@
4. Explain any two - S 15
(a) Benefit Principle of T 1.
(b) Features of Public Gqgds.
(c) Elasticity of Dema}%@nd Shifting of tax burden.

5. Write notes on any th 2 15
(a) Aggregate and Curve
(b) Offer cug?es
b (e Currqg‘é? Crisis il Sl G
(d) Excgé’s Burden of Taxation
(e){ @thon’s concepts of Incidence of a tax
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